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1 2 3 Z 5 Ay | ey | e | DAERE | Sy | FesTEey | e A | BEx

BT | E4% | R T | aEEE | s = (F4E22 | H=CIG

TTEIER] | A ER il e RIES | PEEER |A=1+2+... C=A+B | D=E-C | E=C+D ) (%)
AHLSH 1,485 5,316/ 2,210 1,340] 5,469] 15,820 542| 16,362 3] 16,365 6,956 23,321 70.16
STE [325 29 142 51 14 207 443 18 461 0 461 137 598[ 77.09
fLEEE 326 12 95 30 13 85 235 8 243 0 243 121 364| 66.76
ZogHE [327 42 237 55 34 249 617 13 630 0 630 244 874 72.08
ZogE (328 81 278 96 56 276 787 38 825 0 825 317 1,142 72.24
BEp B [329 80 256 71 24 246 677 18 695 1 696 391 1,087 63.94
YerEE [330 82 320 33 36 224 695 28 723 0 723 247 970 74.54
JEEE 331 35 196 50 36 175 492 12 504 0 504 171 675 74.67
HEEH (332 58 215 48 82 160 563 17 580 0 580 268 848] 68.40
#EE 333 43 169 82 39 114 447 27 474 0 474 234 708] 66.95
pECTEE [334 38 194 73 29 160 494 17 511 0 511 248 759 67.33
e E (335 61 144 49 95 107 456 24 480 0 480 253 733] 65.48
PHZ-E (336 25 143 342 123 170 803 22 825 2 827 334] 1,161] 71.06
thZZ B 1337 48 178 427 115 147 915 32 947 0 947 443| 1,390| 68.13
H2:H [338 18 212 390 118 159 897 21 918 0 918 390] 1,308] 70.18
fEifkE  [339 14 48 63 28 58 211 8 219 0 219 52 271] 80.81
faipkE [340 23 31 40 23 81 198 2 200 0 200 39 239] 83.68
=5aH (341 45 213 48 38 142 486 22 508 0 508 143 651] 78.03
k2 (342 212 244 60 58 167 741 40 781 0 781 336| 1,117| 69.92
HOEH 343 108 198 52 46 215 619 14 633 0 633 274 907] 69.79
EEE [344 121 212 42 42 177 594 25 619 0 619 309 928] 66.70
JTIUE [345 48 100 5 28 38 219 3 222 0 222 64 286 77.62
e |346 70 167 11 28 63 339 19 358 0 358 63 421| 85.04
ZH (347 18 7 5 13 26 69 1 70 0 70 48 118] 59.32
FEH (348 12 34 5 8 41 100 4 104 0 104 64 168| 61.90
#AHE [349 35 398 15 48 162 658 12 670 0 670 266 936] 71.58
EHE [350 49 304 23 57 425 858 35 893 0 893 365| 1,258] 70.99
B EH (351 19 224 9 52 363 667 12 679 0 679 433 1,112| 61.06
fEHE (352 33 272 24 35 364 728 24 752 0 752 468| 1,220| 61.64
EH [353 26 85 11 22 668 812 26 838 0 838 234 1,072 78.17
=90 4,601 1,478 331] 4,185] 1,570] 12,165 501 12,666 2| 12,668 3,552| 16,220/ 78.09
ERIAT 1354 110 52 4 128 51 345 21 366 0 366 108 474 77.22
=HRF (355 53 9 1 67 30 160 12 172 1 173 40 213] 80.75
=kt 356 316 136 19 367 225] 1,063 48] 1,111 o] 1,111 375| 1,486] 74.76
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1 2 3 4 5 AR | NG | SRR | OO | S | HEREEE | BB AR | R
RS | Ema | R | R | SRE | &EH C (FRESE | H=C/G
{TEEA] | A EH] il REHEN [REHED | TEER |A=1+2+... C=A+B | D=E-C | E=C+D %) (%0)
SR [357 255 84 23 312 166 840 34 874 0 874 259| 1,133| 77.14
{ZHA |358 174 63 14 172 218 641 20 661 0 661 200 861| 76.77
BS54 1359 174 59 16 171 86 506 28 534 0 534 188 722 73.96
SETTA 1360 329 120 45 370 57 921 44 965 0 965 244| 1,209| 79.82
AERT 361 101 31 8 100 48 288 18 306 0 306 62 368 83.15
R (362 141 16 7 47 25 236 10 246 0 246 84 330{ 74.55
A (363 50 1 1 18 6 76 3 79 0 79 22 101) 78.22
HEIR 1364 290 65 40 137 63 595 16 611 0 611 134 745 82.01
ERT [365 160 90 5 49 59 363 13 376 0 376 44 420| 89.52
1% 3EkT [366 226 28 7 51 18 330 15 345 0 345 78 423 81.56
JLEERT |367 115 111 16 146 43 431 25 456 0 456 135 591 77.16
HrEkr [368 386 243 24 325 95| 1,073 40| 1,113 1] 1,114 335| 1,449] 76.81
HEAT [369 217 40 10 230 99 596 21 617 0 617 193 810 76.17
pEaEfy (370 183 54 14 221 42 514 17 531 0 531 260 791 67.13
EfIR [371 263 42 10 270 41 626 26 652 0 652 154 806 80.89
EER [372 134 43 3 128 26 334 17 351 0 351 71 422| 83.18
ekt [373 180 37 4 166 45 432 17 449 0 449 97 546 82.23
FOERF 1374 208 57 13 168 12 458 23 481 0 481 105 586 82.08
Ok [375 44 5 5 31 6 91 5 96 0 96 44 140( 68.57
2R |376 139 17 12 75 34 277 3 280 0 280 111 391 71.61
FERIAT 377 171 36 22 177 60 466 9 475 0 475 92 567 83.77
RS [378 161 36 8 187 14 406 14 420 0 420 96 516| 81.40
ENRT [379 21 3 0 72 1 97 2 99 0 99 21 120 82.50




